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1. Least doped region in a transistor is
(a) either emitter or collector (b) base (c) emitter (d) collector
Ans. (b) base
2. A transistor can be used as
(a) full wave rectifier (b) half wave rectifier (c) filter (d) amplifier

Ans. (d) amplifier

3. A transistor is used in common emitter configuration. Given its a = 0.9, calculate the change in
collector current when the base current changes by 2pA
(a) InA (b) 0.9 pA (c) 30 pA (d)18 pA
Ans. (d)18 pA

4. Ina common emitter amplifier (I/1,) = 0.98, then current gain is

(a) 49 (b) 4.9 (c) 98 (d) 9.8
Ans. (a) 49

5. Inacommon base transistor circuit [.=0.97 mA, 1, = 30 pA then current gain o =
(2) 0.97 (b) 0.097 (c) 95 (d) 500
Ans. (a) 0.97

6. In a n-p-n transistor amplifier, the collector current is 9 mA. If 90% of the electrons from the emitter
reach the collector, then
(a)a=09;=9.0 (b) base current = 10 mA
(c) emitter current = 1 mA (da=9;p=0.9

Ans. (a)a=09;p=9.0

7. In an n-p-n transistor the collector current is 24 mA. If 80% electrons reach collector, its base current
in mA is
(a) 36 (b) 26 (c) 16 (d) 6
Ans. (d) 6

8. Consider an n-p-n transistor amplifier in common emitter configuration. The current gain of the
transistor 1s 100. If the collector current changes by 1 mA, what will be the change in emitter current ?

(a) 1.1 mA (b) 1.01 mA (c) 0.01 mA (d) 10mA

Ans. (b) 1.01 mA
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In an n-p-n transistor, the collector current is 10 mA. If 90% of the electron emitted reach the

collector, then the emitter current will be
(a) 9 mA (b) 11.1 mA (c) 0.1 mA (d) 0-01 mA

Ans. (b) 11.1 mA

Consider an n-p-n transistor with its base-emitter junction forward biased and collector-base junction
reverse biased. Which of the following statement is true?

(a) electrons cross over from emitter to collector (b) holes move from base to collector
(c) holes move from emitter to base
(d) electrons from emitter move out of base without going to the collector

Ans. (a) electrons cross over from emitter to collector

The breakdown in a reverse biased p-n junction is more likely to occur due to the
(a) large velocity of the minority charge carriers if the doping concentration is small
(b) large velocity of the minority carriers if the doping concentration is large

(c) strong electric field in a depletion region if the doping concentration is small

(d) weak electric field in the depletion region if the doping concentration is large

Ans.(a) large velocity of the minority charge carriers if the doping concentration is small

In an n-p-n transistor circuit, the collector current10 mA. If 95% of the electrons emitted reach the
collector which of the following statement is true ?

(a) the emitter current will be 8§ mA

(b) the emitter current will be 10.53 mA

(c) the base current will be 10.53 mA

(d) the base current will be 2 mA

Ans. (b) the emitter current will be 10.53 mA

The part of a transistor which is most heavily doped to produce large number of majority
carriers 1s

(a) emitter (b) base (c) collector (d) can be any of the above three

Ans. (a) emitter

In the following common emitter configuration an 'n-p-n' transistor with current gain
B =100 is used. The output voltage of amplifier will be I

(a) 10 mA () 0.1V :

(©) 1.0V @10V I - Viows

Ans. (€) 1.0V mv e T |
T T v

In a CE transistor amplifier, the audio signal voltage across the collector resistance of 2 kQ is 2 V
if the base resistance is 1 KQ and the current amplification of the transistor is 100, the input signal

voltage is
(a) I mV (b)10 mV (c)0.1V d)yrov

Ans. (b)10 mV
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